LI T
rgﬁmmzﬂ BERS S 1-3(1) %7 NehgE (- )QE_M_%E

A ch B = %7 @ .

- - EEBM (EH6L £ 184)
( ) 1. 2x—5 Bl 5x—7 ASEFEE X MV ZIES, ?

(A)ZEX (B)—X (©) =% (D) =%
()2 #HG—x)(6+x)=—xX+px+q Alp+q="?
(A) 19 (B) 29 (C) 39 (D) 49
( ) 3. A—EHIPHIER 2x+6 ~ TWh x—5 NIfEANEHERARTINE?
(A) (2x+6) (x—5) (B)2 (x+3)(x—5)
(C) (x+3)(2x—5) (D) 2x?>—4x—30

- BAE (FRO6ALAF28F 104 > £ 684)
1. 5TE T

1

(1) 4 (—9%)= (2) —2x (x—5) =
(3) (x+2)(x—3)= (4) ( —3x+7) - 4x=
(5) (3x—4) (x—8) = (6) (3x+1)%=
(7) (x+1)(x—=1)= (8) (5x*—1)(2x+3)=
2. FIFEEE IR -
1) 2x  — 1 (2) ;e — 2x —1
x) x T 6 x) x +5

C PR (14 4)
S BRI LR (3+x) TR (3x—5) &k (x+1) eI -
(Bh X B THART) .

-
X+1

3x—5

Lol [




